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Note that all the diagrams on this test paper are NOT drawn to scale.

Section A :  Choose the most appropriate answer and write its number in the


         brackets provided.  (5Q X 4 marks each)

1.            7 cm                

[image: image1.bmp]                               

                               Find the area of the square shown on the left.

      (1)  14 cm2



(2)  28 cm2
      (3)  36 cm2



(4)  49 cm2



(
)

2. A rectangle has a length of 12 cm and a breadth of  8 cm.  Which of the following  

is true?

(1) The rectangle has a perimeter of 40 cm and an area of 40 cm2.

(2) The rectangle has a perimeter of 40 cm and an area of 96 cm2.

(3) The rectangle has a perimeter of 96 cm and an area of 40 cm2.

(4) The rectangle has a perimeter of 20 cm and an area of 96 cm2.
(
)

3. A square field has a perimeter of 36 m.  What is the area of the land that it is taking up?

(1)    9 m2



(2)      36 m2
(3)  81 m2



(4)  1296 m2



(
)

4. A Science garden measuring 9 m by 4 m is divided into equal plots for growing

different types of flowering plants.  Each plot is 3 m by 2 m.  How many different types of plants can be grown in the garden if only one type of plant is grown on each plot?

(1)    2



(2)    6

(3)  16



(4)  30




(
)

5.

[image: image2.bmp][image: image3.bmp]
                                 8 m

                                                                                    2 m                                                                                                            

                                             4 m                        2 m                                            


                                                                                             8 m

                                                                   

                                                                    12 m

      The shape of a swimming pool is made up of two rectangles and a square.  A  

      concrete path which is 1 m wide is paved around the swimming pool as shown in

      the diagram above.  Find the area of the swimming pool.

      (1)    72 m2


(3)  148 m2
      (3)  160 m2


(4)  220 m2



(
)

Section B :  Work out each item and write down the correct answer in the blank

                     provided.  Show your workings clearly in the spaces provided.  

                     (This whole section carries a total of 20 marks.)

6.  


A big square is made up of 9 small squares with the side of  

                                    7 cm each.  What is the area of the big square? (3 marks)
           7 cm
Ans:  The area of the big square is                              .

7.  






       




     3 cm


  3 cm
  






  






        2 cm

The length of a photograph is 16 cm and the breadth is 9 cm.  The photograph is pasted on a bigger board.  The width of the borders is shown in the diagram above.

i. What is the perimeter of the photograph?
(2 marks)
ii. What is the area of the photograph?

(2 marks)
iii. What is the perimeter of the board?

(2 marks)
iv. What is the area of the borders?

(2 marks)
Ans:  i.
          The perimeter of the photograph is

          .

ii. The area of the photograph is


          .

iii. The perimeter of the board is


          .

iv. The area of the borders is 


          .

8A.


  1 cm


  1 cm





   1 cm

   1cm

The above diagram is made up of 1-cm squares.

i. Find the perimeter of the shaded portion.
(2 marks)
ii. Find the area of the shaded portion.

(2 marks)
Ans:   i.  The perimeter of the shaded portion is

.

          ii.  The area of the shaded portion is


.

 8B.


       3 cm

                                      

                              4 cm



                              8cm                                                                                                                                                                                          


                                                                                                                       

                              5 cm     

                                                                                                                 

                                                                                                                  4 cm

                                                               

                                                                12 cm           1 cm        3 cm

John has two pieces of coloured paper.  One is in the shape of a rectangle while the other is in the shape of a square.  He pastes them onto a white drawing block.

i. What is the perimeter of the white drawing block?


 (1 mark)
ii. What is the area of the drawing block that is NOT covered by the two pieces of coloured paper?






(4 marks)
Ans:  i.  The perimeter of the white drawing block is


.


      ii.  The area of the white drawing block that is not covered by the two

              pieces of coloured paper is


.

Section C :  Solve the following problem sums.  Show every step of your working clearly in the spaces provided.  You have to write down your answer statement and the appropriate unit of measurement whenever applicable. (This whole section carries a total of 60 marks.)

9A.                   12 cm



                                                            Find the shaded area as shown in the diagram                                                 

                                                            on the left.

  
         (4 marks)


9B.                        3 cm                     

Find the area and the perimeter of the

                                                                        trapezium shown in the diagram on the      

                                                                        left.



(6 marks)


         2.6 cm         5 cm           2.6 cm

                                   5 cm

10A.                                                    Draw another figure which has the same area 

                                                            and perimeter as the figure on the left.

                                            1 cm        Your figure need not be drawn to scale.

                                                            (5 marks)

       1 cm

                                1 cm

              1 cm

10B.   A rectangle has a length of 11 cm and a breadth of 4 cm.  Find the length of

           the square which satisfies the following conditions:-

· the square has a smaller perimeter than the rectangle;

· the square has a bigger area than the rectangle.


(5 marks)
11.          8 cm                            tapes

Lingling  needs  to  send a parcel to her

                                                                        friend in Bangkok.  She used a masking

                




tape  to  fasten the parcel on all sides as

          5 cm                                                                  shown in the figure on the left. With the








 help of diagrams or otherwise, find  the 

 total length of the tape used.

                       6 cm 



 (10 marks)
12. A wire is being bent into a square.  The area of the square is 144 cm2.  

i.   What is the length of the wire?




(2 marks)
ii. If the wire is straightened and then bent into a rectangle with a breadth of        


6 cm, what is the area of the rectangle?



(4 marks)
iii. This time, if the wire is straightened and bent into three equal squares as

     shown in the diagram below, find the shaded area.


(4 marks)
    

13.                                            







  

                                                1cm

                                                                                      

14A.
The width of a rectangular piece of paper is 4 cm.  Its length is 6 times as long as its width.  The paper is folded 3 times such that when it is folded lengthwise each time, the area is halved.  Find the area and perimeter of the last folded figure.








(5 marks)
14B.
Form four different rectangles of perimeter 18 cm.  These rectangles must have different sets of length and breadth and they need not be drawn to scale.  Label the rectangles clearly from A to D.



(2 marks)
i. Which of these rectangles has the biggest area?


 (1 mark)
ii. Which of these rectangles has the smallest area?


 (1 mark)
iii. From i. and ii., explain how the length and breadth of a rectangle affect its 

    area, given its perimeter.





(2 marks)

3 cm





 7 cm





 6 cm





E     H      I





 F 2cm G





D 3cm





B 3cm





C                        J





2cm K





   A                                            L





14cm





   6 cm                    





 6 cm





The figure on the left consists of two rectangles, ABKL and CDIJ, as well as a square, EFGH.  If AB=CD,


what is the length of CD,


      			(2 marks)


what is the perimeter of the 


     figure and,		(4 marks)


what is the area of the shaded 


     portion?		(4 marks)
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